HiikG i DK
Hh ﬂﬁi}ﬁp 1l

~WRZEHE LRV IR 72 D

B’ Trumpet 1

AR 55
J T

(&
Eih

ii

il A

~

-
-

>
-

st

a tempo

rit.

b
)

o4t

21

=)
7

|
|
B
| K

28
o4t

st

~
12
i

|

poco accel.

35

o4t

a tempo

41

=X

cresc.

48

TH

TH -

TH -

#Z

#Z

#Z

o4t

mf

55
H4
gt

= 80

Moderato J

rit.

63

16

AT H
| e

o4t
P




B’ Trumpet 1-2

19/
/!
1 3

17 A PNE

mf

o4 .

91

r.

96

I/
|

=80)

Tempo I (.

88)

rit.

[6] Pitt mosso (

poco accel.

108

4t

TR
| 3

122

T

1N/

1 3

/!

1K= 3

I
T

I

poco a poco accel. e cresc.

[
I
3

[
I
3

f
Allegro agitato (¢ =132)

i
}
m

#

o4 1,

136

e

L. )

7

o

140

=

X

P
»

Y
|
|

=)

=4

mff ———

149
fH~

A
PN

1WA
1K 3
%

/!
1=

1= 3

162
N4

=
Lol

—

molto riten.

muted

T

1))

P
181 Meno mosso Allegro ( J =132 )

D)
)

muted

VI /]
y .
[ (oo WLEAN /1
ANV
o

G 3

mp



B’ Trumpet 1-3

open

191
N4
Vg

[ )

N
~
[{e]
Ne
nof
N
[
Q
=Rcisy
c L]
Q
]
3 <
n -
Q
opm|
Wb i i
< ThEs
< 3
Nhay
2 “n“““
=i
N
T
o L]
|
1
A~
R=2
o N
R TN

muted

223

19/
19/

1=

1))
I/

1 3

o0

pp

i

o4 1.

A

Moderato (. = 112)

i

239
o4 1,

Iy /
1 3

open

248
o4t

19/
= 3
19/
I 3

=
[ [le)
I/
= 3

rY

19/
= 3

poco rit.

1

3
18

S

259 Meno mosso

255
o4t
ot

o

17] J =72

30

by

Meno mosso (. = 112)

2

molto rit.

12

301

T A

1 B

LN

Piu mosso
—

> >

357

7
[ (an WL

mf

381

Agitato

403

4

[ (oo WLV 4




B’ Trumpet 1-4

17

N4
Vg

11223 Allegro assai (J = 160)

433

0+
Y=

[ (an WL

[Q)

O

A3V

25| J =172

0+

440

V)
L

7
[ (an WL

446

Pa

—~ e

0+

Pa
©O

Y ©

454

S

N H -~

iV #g

(T -
ANV

=80)

Grave ( J

rit.

—
o

P

T = LT
1 I P = TP~
1 I e

L

469

mf

mf

474

o4 1,

19/
L=
19/

1=

1D )
A&/

I/

10

o4 1,
L LTI
™

Lia

480

1 3

mf
Allegro vivo (

144)

-0,28] Un poco meno mosso

13

o4 1.

P
»

[ ey

I/

DL

—

1K= 3

mf

|
e

R

530

> >

> >

» boo

o4 1,

Q0
1
A
u/
Pan
A .
pa
o~
<
o
—
I -
)
- [
0 .
S Al
=]
s
N
o
s T
2%
[ag)
€
o
~
(
o)
7 NG




B’ Trumpet 1-5

548

N

mf

mp

—

553

[ (' N

558

(14
A\
o

accel.

563

[ (a1

559 Tempo di marcia ( J =120 )

=
7

mf

575

583

o
=

588

riten.

593 | 1,2.

Allegro vivace ( J =152 )

599







